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1. The length of the shortest path from a to z is x and the length of the shortest path from h to
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2. a,=6a,,—8a, ,,a,=1,a,=0, the solution is a, = x"" — y", x+y=?

n

3. 2a,=7a,,-3a,,,a,=1a =1, the solution is a, =(x*" + ")/ z, x+y+z=?

n

a. |83]+[9.0]+|-8.7]+]-11.3]=2

5. The total degrees of the following graph is

6. Using the generalized De-Morgan’ s law for logic, find the negation of
IxVyVzP(x,y,z).
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1. Prove V17is irrational.

2 B I g

LEIES tromino FH={ER LTSI, FRREHA tromino FTETRGLL T B BLAE A B
. 27 x 2" FoRH 2" x 2" {7 SRAH R 7 R

2"x2"
2"x2" | 2"x2"




